]_

g g

TSP 2.







KeB
=
W
=

o, 16 : 10

St
=

AA%o] W2 epfEa

3.

Ai4o] B2 Lt

5t

olg 55 A% AR AT 249,

2 hrd b 7

Asych [ krel

=
=

16+ p:ao=[h=[]:[]

16 : 10







5.

e AEL
. 6~ ©°

WA ek 0 2% I 2L AL WEY

oraglro A=
2T T =

L20cm
/ \

cm

cm

cm

2 2 AR Q

N

N

NN

h C/n;

vl



A A = F-5HA 2

cm

cm






—

I
I
P
I
1







® 8

@ 24:21

B 7:9

: 8

ONy

@ 8



11.

HlEA 3 [ ]=18
oL AlA 1AL,

O 3x12x18

@ 18%12=3

AR J&+

@ 3x12+18

B 18~3=12

L Hog dgre

@ 18 +3x12

A

rlo









14. %714

Z7|GR=2 ghE mokg B, YA Hel & BYE THEY] 9
IR B7 YT S T

7H



15. 9] gko] 2& W2 Zo} vl 402 LehAl o,

3:4 5:6 8:6 10:12

YR
=¥



16.

ZAylo]7} 433.32cm? 0|1
Hols dupelz] HokA] L.,

Qe enr?



17.

me

=)

S it
i fllo

5]

9

CF-
o -

A]

1
ol 4cm Q1 ¥7E Y9 250 == B ¥al,

A EAEY B0l & ol s8] AL, &9 ol

oAUt o Eo] Bulg Fol4 9.

o

cm



18. olmus} ofz|e] BRAL HlE 35 49PUth FAe] BRAE
oI} 1240] A2r1Ick ob o] B2 AV stkgolekd,
o] BRI 9 17}

® 40kg @ 60kg @ 46kg @ 48kg  ® 50kg



™ b=

§l5lolE &

19.



20. oS AEe £ 9 ol 60.24cm PUTh o] AT R FHEo]X]
L 97159 2yol= 2 cm? YY7?

O

5cm

O

@ 79.52 cm? @ 87.92cm? ® 92.86 cm?

@ 100.48 cm?2 3 121.88 cm2



